Comparing Number - Word Problems

Gabriel has 7 books. Nico has 2 Gabriel has
books. How many books does more
Gabriel have than Nico? books than Nico.

Gabriel has 2 books. Nico has 9 Gabriel has

books. How many fewer books does fewer
Gabriel have than Nico? books than Nico.
Nico has 4 more pencils than Nico has

Gabriel. Gabriel has 5 pencils. How |pencils.
many pencils does Nico have?

Gabriel has 7 fewer marbles than
Nico. Gabriel has 3 marbles. How
many marbles does Nico have?

Nico has 3 more crayons than
Gabriel. Nico has 8 crayons. How
many crayons does Gabriel have?

Gabriel has 4 fewer erasers than
Nico. Nico has 9 erasers. How
many erasers does Gabriel have?
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